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QUESTION 1

You have deployed JSA and you need to view events and network activity that match rule criteria. You must view this
data using a single interface.

Which JSA feature should you use in this scenario?
A. Log Collector

B. Assets

C. Network Activity

D. Offense Manager

Correct Answer: C

QUESTION 2

Click the Exhibit button.
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M\ Exhibit =

set groups nodel system host-name SRX-1
set groups nodel interfaces fspl unit 0 family inet address 10.200.0.1/24
set groops nodel system host-name SRX-2
set groups nodel interfaces fspl onit 0 family inet address 10.200.0.2/24

You are configuring an SRX chassis cluster with the node-specific hostname and management address. Referring to the
exhibit, which configuration completes this requirement?

A set groups node$ interfaces fxp0 unit 0 family inet address 10.200.0.254/24 :

B. set apply-groups node0
set apply-groups nodel

C. set apply-groups ${node]

D set groups nodel interfaces fxp0 unit 0 family inet address 10.200.0.254/2
set groups nodel interfaces fxp0 unit 0 family inet address 10.200.0.254/2
A.B.C.D.

Correct Answer: C

QUESTION 3
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Which two functions are performed by Juniper Identity Management Service (JIMS)? (Choose two.)

A. JIMS synchronizes Active Directory authentication information between a primary and secondary JIMS server.
B. JIMS forwards Active Directory authentication information to SRX Series client devices.

C. JIMS collects and maintains a database of authentication information from Active Directory domains.

D. JIMS replicates Active Directory authentication information to non-trusted Active Directory domain controllers.

Correct Answer: AC

QUESTION 4

What are two examples of RTOs? (Choose two.)
A. IPsec SA entries

B. session table entries

C. fabric link probes

D. control link heartbeats

Correct Answer: CD

QUESTION 5

Click the Exhibit button.
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userfsrx> show configuration services
advanced—-anti-malware |
policy TPP {
http {

inspection—-profile default profile;

action block;

notification {

log;

}
verdict—threshold 7;

fallback-options {
action permit;
notification {
logs;

}

default-notification {
log:;

}

whitelist-notification {
log:;

}

blacklist-notification {
log:;

userfsrx> show configuration security policies
from—-zone Client to—zone Internet {
policy Rule-1 {
match {
source—address any;
destination—-address any;
application any;
}
then {
permit
application-services |
advanced-anti-malware-policy TEPR;
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You have deployed Sky ATP to protect your network from attacks so that users are unable to download malicious files.
However, after a user attempts to download a malicious file, they are still able to communicate through the SRX Series
device.

Referring to the exhibit, which statement is correct?

A. Change the security policy from a standard security policy to a unified security policy.

B. Remove the fallback options in the advanced anti-malware policy.

C. Configure a security intelligence policy and apply it to the security policy.

D. Lower the verdict threshold in the advanced anti-malware policy.

Correct Answer: C
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